
   
                                                                                 

  

  

1- e = 1  

 e = 1  IS   :  
IS : Y = 2580 – 10000i 

-     IS = LM :  

2580 – 10000i = 1530 + 25000 = .   ; =  
2 –  :  

   

  
Y = 2000 + 20000 (0.03) – 520 = 2080 =  

  

 

3-   :  

  e 

   

2280   

250e = 0.1 (2280) + 50e = 1.14 

     :  

IS’ :    Y = 1780 – 10000i + 800 (1.14) 
         Y = 2692 – 10000i 

 
BP’ : Y = 2000 (1.14) + 20000i -520 
         Y = 1760 + 20000i 

-  IS  BP 

 2692 – 10000i =  17600 + 20000i   i = 0.03106  

  IS’  BP’   Y = 2381.33 

-    
LM’ : Y = LM + M     M = Y – LM 
  M = 2381.33 – 1530 – 25000 (0.03106) = 74.66 

LM’        LM’ : Y = 1604.66+ 25000i  
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4- 10%  

- IS   
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IS’:    Y = 1820 – 10000i + 800e 

e = 1   
         Y = 2620 – 10000i 

-    IS = LM :   

2620 – 10000i = 1530 + 25000   ;  
 –  :

  

  
Y = 2000 + 20000 (0.0311) – 520 = 2102  

 

- IS  BP  

  

250e = 0.1 (2309) + 50e = 1.1545 

 IS 

IS" :    Y = 1780 – 10000i + 800 (1.1545) 
         Y = 2703.6 – 10000i 

 
  BP 

BP’ : Y = 2000 (1.1545) + 20000i -520 
         Y = 1789 + 20000i 

-  

 2692 – 10000i =  17600 + 20000i   i = 0.03048  

  IS’  BP’   Y = 2398.733 
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  M = 170 
LM’ : Y = LM + M     Y = 1700 + 25000 i 

 
-    IS = LM :   

2580 – 10000i = 1700 + 25000 = .   ; = .  

 

–  :

  

  
Y = 2000 + 20000 (0.2514) – 520 = 1982.857 = .  

 

- IS  BP  
  

250e = 0.1 (2328.571) + 50e = 1.1643 

 IS 

IS’ :    Y = 1780 – 10000i + 800 (1.1643) 
         Y = 2711.428 – 10000i 

 
  BP 

BP’ : Y = 2000 (1.1643) + 20000i -520 
         Y = 1808.671 + 20000i  

-  

 2711.428 – 10000i =  1808.671 + 20000i   i = 0.03495  

  IS’  BP’   Y = 2412.476 

 

  

  

  

1-    

=   Wr = 120 – 0.02 L 
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-  :  

WS = WD   60 + 0.13L = 120 – 0.02 L 

                  L* = 100 

-          :  :                                              112=  r*W          

 3-   

Y = 120(400) – 0.02(400)2 + 2(100) = 46600 

4-  IS   

46600 = 12200 – 10000i  i = - 3.44 

5-   LM   

 (  - 140 + 5000(-3.44) = 46600   = 483340  P = 0.005379 

6-   

 = Wr .
= 112  W = 20820.8   
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